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Ha! Here, take it!

1 | (Césa 6xooum 6 keapmupy ¢ bonvuuim koarvecmeom | (Seva walks into the apartment with a large
2 | nakémoe 6 pyxdx.) number of packages in his arms.)

CéBa 3 | Bép, momep:kn, moxamyiicra, makér. (3ameudem, Vera, hold this package, please. (He notices
4 | umo ond yocé naoena nanomo.) Toel kyna? Ha that she has already put on her coat.) Where
5 | ceumanue ¢ bopeii? are you going? On a date with Borya?

Bépa 6 | He cyii cBoit HOC B uyxue aena! (Haodesdem Don’'t stick your nose into other people’s
7 | nepuamku.) business. (She puts on her gloves.)

Cépa 8 | IloiiMi ke THI, 9YTO OH HE 3aCITy>KHBaeT TaKOi Can’t you get it into your head that he doesn’t
9 | néBymiku, kak Thl. [loBéph MHE! deserve a girl like you.

Bépa 10 |3amourunt! Twl er6 He moHuMaenb. Mim npocro Be quiet. (Shut up.) You just don’t understand

€My 3aBUIYeIIb. him.

Cépa 11 | Bépa, Oyas ocropokna! Byap 6ueHs octopdxHa! Vera, be careful. Be very carefil.

Bépa 12 | Yto THI MMéemb B BUAY? XO4ensb Bepb, XO4ueub He | What do you have in mind? Believe it or not,
13 | Bepb, y Hero cBoii 6i3Hec. HaBépHo, OH he has his own business. He probably makes
14 | 3apabaTeIBaeT OOIBIIE, YEM ThI! more money than you.

Cépa 15 | Hy nénait uro x6uenb. Pa3 Tbl yXOauiib, HaaéHb Since you're going out, put on a hat. It’s
16 | manky. Ha ymune codaumii xéox! freezing outside.

Bépa 17 | Xopom6. Jlaif MHE IIATKY. OK, give me the hat.

CéBa 18 | Ha. bepn Here, take it.

CnoBapb

2 | makéT(uK) shopping bag (often plastic)

nepxar // mo- (indicates for a short time)

hold (We saw this in the phrase nep:ki kapmau nmipe, which
literally means hold your pocket wider.)

4 | HameBay+ // HaméH+ put on (clothing)

7 | mepuar/ka (0) glove

§ | mommMait+ // {moiim+" / mOHs+} understand; grasp (Used as an imperative in Russian much more than
in English.)

10 | Mom4a+ // 3a- be silent

13 | OrzHeC guess

16 | cobaumii X001 very cold (Colder than... you can fill in the rest.)

18 | Ha! (HaTe!) here, take it (This is a very weird imperative, which can even take the

formal marker -Te.)
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pammaTuka 23-1 ypok

[23.A The Imperative (MoBenutenbHoe HaknoHéHue /| UmnepaTuB)

There are two endings for the imperative: -&/Te or -u/Te. The choice is determined either by: 1) the final
consonant of the stem or; 2) the position of stress.

23.A.1 Verbs whose final stem consonant (sound) is i

If the final consonant of the stem is i, that’s the imperative. Add -te for formal/plural commands:

Stem Imperative
YUTAN+ yprai/te!
TYJISTiA+ TyJstii/Te!
Oomnéii+ oouéii/te!
HME+ nmMeéi/re!

For verbs with the suffix -cs1, write full -cs after a consonant (i), -cb after a vowel.

3aHUMAI+....CH 3aHnMaiicd! / 3aHnmanTecs!

CITyIaii+...cst obey ciymaiics / cimymarech!

For {O}Ba-stems, use the present tense stem, where {O}Ba > {U}ii. There is no distinction in the imperative
between root and non-root {O}Ba-stems:

TaHIyH+ (TaHIEeBa+) TaHIy#H/Te!
cyii+ (coBa+) Cyii/te!
ILUTEOH+ (TIIeBa+) spit uTroit/te!

For double-stem verbs, use the present tense (left-hand) stem:

{MOii+...cH1 / MBI+...C51} Moiics! / MOHiTECH!
{Opéii+...cs1 / Opn+...co} Opéiics! / 6péiiTecn!
{moii+" / mé+} noii/e!

What about double-stem verbs like {mbii+ / mi+} or {apii+/ mi+}? There’s no vowel in the present tense stem!

It’s cluster buster time, which gives you néii(re), n1éii(re). Just think: Jleii, 1émam, neii Pour, lady, pour. And our
favorite phrase from last year:

Ieit no nua! Iei no nua! Ileii no nua! Chug! Chug! Chug!
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23-1 ypok pammaTuka
________________________________________________________________________________|
This rule about it also applies to stems that end in a vowel that are preceded by the sound i, i.e, i is the last

consonant sound (but not the last consonant /etter) in the stem. You simply remove the vowel leter and spell out
the “hidden” ii:

Stem Imperative
60si+...ca1 (=i {A}) 00iics! / 60iTECH!
CTOSI+ croii/re!
cMes+...cs cMméiics! cméiiTecn!
nas+ bark naii/te!

23.A.2  Other stems (not with final consonant sound ii)

Leaving aside those stems whose final stem consonant is i, the imperative uses a vowel ending: -u/te. — sort of.
It depends on stress.

If the stress is on the ending (or the final vowel of the stem), add stressed -n/tTe (always the soft
indicating vowel).

If the stress is on the stem, add -b/Te. This applies to both consonant- and vowel-stem verbs — both types
can be either stem-stressed or ending-stressed. And there’s no way to predict — you just have to know
where the stress is.

Again, as with the past (and infinitive, as we’ll see later on), conjugation type plays no role.

End-Stressed: Imperative in -1/Te

Stem Imperative
TOBOPH-+ ropopu/Te!
KyTIi+ Kynn/te!
CMOTpE+ cMoTpu/Te!
JepKat nepxi/Te!
HéC+ Hech/Te!

knafg+ (recall that the present Kknagu/re!
tense is end-stressed)

> r
SKUB+ JKuBH/TE!
KOJNO+...co KOJIMCH! / KomATeCh!
> r
Kaa+ xau/te!
> r

Bpa+ Bpu/Te!
BEPHY+ BepHU/TE!
* < ¥ |

ITOMOT+ rnomoru/te!
K+ nexu/te!

*Note that r and k do not mutate in the imperative. See more below on consonant mutation.
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Again, double-stem verbs use the present tense stem (on the left):

23-1 ypok

, > ’
{BO3BM+" / B35+} BO3bMH/Te!
, > .
{Ha4yH+" / Ha4a+} HayHW/Te!
< > ) .
{momHUM+" / IOHS+} noauumu/te!
o , > o
{moim+" / IoHsT+} momMu/e!
< > ’
{mpum+ / mpuHs+} npuMu/Te!

@ Give the Imperative. For some verbs use the negative particle He:

{Haum+  / HA44+} ypOK
KyIit+ BOIKY

6Opd+...C C TapaKAHAMHU
JKHB+ KaK BCE

yKpajd+ KOMIBIOTEp 1/ MEHS

1. He mpeyBennYHBaii+ IBIMA+ MEUIEHHO 3.
4. moaMéEr+ moi UCIEK+ TOPT 6.
7. 3aHUMAI+...C KK 1eHb 8. He ynaﬂ' + B 03epo 9.
10. mocTpHr+...cst ceroaHs 11. ronocoBa+ vote 3a CtamuHa 12.
13. mpuBé3+  MAMIYIIYIO MAIIMHKY  14. TOCMOTpE+ HA MEHS 15.
Stem-Stressed: Imperatives in -b/Te
Stem Imperative

BépU+ BEéph/TE!

HaIEH+ HaIEéHb/TE!

MOBECH+ moBéCh/Te!

Opocu+ O6pochw/Te!

BCTaH+ BCTaHb/Te!

nész+ climb né3b/Te!

CTABU+ cTaBb/Te!

TIIATU+ raags/Te!

{61+ / Obi+} 6yb/Te!

{csm+/ cén+} csnp!Te!

{nsir+ / nér+"} *nsir/te!

*Recall (from Lesson 2) that you can never have a soft sign after a velar. So, instead of the expected form
nATh/TE, you get jsir/te. Actually, the imperfective Joxkucb/aoxuTech is normally used, but asr/Te is a

perfectly grammatical form.

% Give the Imperative. All previous types discussed will appear

’ ’ > J3 I3
1. Bcram+ {6yn+/ Ob1+} ocTOpOKEH 3. moBépH+ MHE
4. He TOIKAI+ MeHSA HE CMeESI+...CS HAaJl0 MHOM 6. 3amomya+!
’ ’ , > r . ) ’
7. TOCTABHU+ BUHO HA CTOJI {BO3bM+" / B35+} NEHBI'H 9. {cdn+/cén+} na mon

11.
14.

10.
13.

12.
15.

HE COBA+ CBOM HOC B MOH J€j1a HaJEH+ [IAMKY HE BBIMCHIPUBAIL+...CsI

MOBECH+ KAPTY Ha CTEHY OTCTaH+ OT MeHs! cripocu+ Banuka 06 3tom
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___________________________________________________________________________________________________________________________]

23.A.3  Stem-Stressed Verbs With > 1 Consonant Preceding the Final Vowel

If, after chopping off the vowel from a stem-stresed verb, you are left with two consonants (i.e., a cluster), add
unstressed -u/te instead of -p(te). For example, with the verb mémuu+, after you remove the stem-final u, you’re
left with momu. Adding a soft sign would give the unpronounceable (even for Russians) momas/Te. So, an
unstressed 1 is added, giving the phonologically friendly némumn/te.

Cluster at end of Stem: Imperatives in unstressed
-uite
Stem Imperative
MTOMHU+ MOMHH/TE!
KOHYM+ KOHYH/TE!
YHACTH+ *ypcru/Te!
TIPUBEHIK[HY |+ TIPUBEIKHU/TE!

*Yuctoe/Te is also possible, probably because e is felt by some speakers to be a single sound.

Compare the last example mpuBBIiTH[HY |+ > NPUBBIKHH/Te With MOKAHY+ > MOKAHL/Te. Since there’s no
consonant cluster after removing the y, you can safely add -b(Te).

In fact, all disappearing [Hy] stems will have the imperative in "...u/Te. Think about why — we’ll ask you in class.

23.A4 Consonant Mutation in the Imperative

Even though the imperative creates V+V truncation in many situations, only 1"-conjugation a-stems (e.g. nucar,
noKa3d+, muaka+, etc.) and {O}eéa-Stems (where {O}Ba > {U}if) have consonant mutation. In other words, only
verbs that have consonant mutation throughout the present tense also have mutation in the imperative.

Stem Imperative
< ’
MHUCa+ num/re!
CcKaza+ CKaXx#/Te!
< ’
HACKa+ umry/te!
TaHIIEBA+ TaHIy#H/Te!
COBa+ cyii/te!

A nice example: the stem cry is maaka+. You get mutation, but since the stress is on the stem, the imperative
ending is -b(Te), giving miaa4b/Te.

(A small detail: The stem cbIma+ pour a substance, which also has mutation throughout the present tense, has the

imperative form cplnb/Te, without the mutation of m>rmib. It seems that ceimuie/Te is more than a mouthful, even
for a Russian.)
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___________________________________________________________________________________________________________________________]

23.A.5 The Imperative of Perfective Stems in BbI-

This gets a bit tricky, and Russians themselves often don’t know what the “correct” form is. We know when the
prefix BBI- appears on a perfective verb, the stress is fixed on the BbI-: BBITepeTb, BBITPY, BHITpElllb, BEITEP,
BEITEpJIa, BRINLIA, BRIILIH, etc. Therefore, we might expect nearly all perfective BbI- verbs to have the
imperative ending -b(Te), which is used for stem-stressed stems (see above). However, if another form with the
same basic root (but with a different prefix, or no prefix at all) has stress on the ending, then the imperative has
the ending -u(te), and the stress remains on the prefix Bei-. Otherwise, if the ending is never stressed, use -b(Te).
As we said, this gets rather involved.

Stem Imperative

BEITP+ wipe off BEITpH/TE! (because of Tpy)

BEIBEI+ lead out

BeiBean/Te! (because of Beny)

BEIOpOCH+ throw out BEIOpOCK/Te! (because of OpOCUTB)

BBIBECH+ hang out a thing Brmecr/te! (because of moBécuTh)

23.A.6 Exceptions in the Imperative

The three double-stems whose past/infinitive stems end in aBaii+ (1aBaii+, -3HaBaii+, -craBaii+) use this stem — and
not the present tense stem like other double-stem verbs — to form the imperative. As expected, since the stem
ends in #, that’s the form you use: naBaii(re), y3naBaii(Te), BcraBaii(te). Just recall JlaBaiiTe roBOpUTE APYT
JIPYTY KOMILJTUMEHTHI. . .

Stem Imperative
{mai+" / maBai+} nasaii/te!
{Bcraii+" / BcTaBaii+} BCTaBaii/Te!
{y3Haii+" / y3HaBaii+} y3HaBaii/Te!

Here are the imperative forms for verbs with truly irregular present tense forms:

1aTh give Jaii/te!
€CTb eat emn/Te!
0exarThb run Oern/re!

Many students, logically enough, think that naii/Te is the imperative from the imperfective stem {naii+" / naBai+}.
Be sure to remember the difference between imperfective naBaii/te and perfective maii/Te.

Xotéth doesn’t normally have an imperative form.

23.A3 A cool imperative: na/te!

When handing something to someone Russian often say na! here, take this, and can even add the formal/plural
marker -Te, giving HaTte! (Apparently you find this imperative in other Slavic languages as well.)
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g@ Give the Imperative. All previous types discussed will appear

1. cka3a+ [ane 06 3Tom 2. 3ammca+ Moii TeneoH 3. nOMHH+ MeHA

4. nouncTH+ 3yOBI 5. He miaKa+ 6. He 60s+...ca

7. MCKi+ HOJAPOK I MATEpH 8. BRITp+ wipe off cTon 9. {Bcraii+ / BCTaBAli+}

10. He xna+ MeHS 11. Give me the money! 12. Here, take it!

13. Eat the lamb! 14. He {3a0yxa+ / 3a0p1+} 00 3TOM 15. we {naii+" / naBaii+} eMy KJIIOY
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Summary of the Imperative

Stem Imperative
Stems whose final consonant = n
1) Stems in i or ii+vowel: keep #i/Te YHUTANH+ yuTaii/re!
TaHIyH+ TaHIy#/Te!
Consonant + cst / Vowel + ¢cb UMEN+ nMéii/te!
COBa+ cyii/Te!
{moii+" / me+} noii/te!
cMesi+...csl cMéiica! / cmélitech
CTOSI+ croit/te!

Stems whose final consonant = n

2) End-stressed stems add w/Te TOBOpU+ roBopu/Te!
KyTIiT Kynn/te!
oMor+~ nomoru/te!
BEPHY+ BepHU/TE!
HEC+’ Hecu/Te!
6epa+ (e) oepu/te!

Mutation only in a-stems nuca+ numu/Te!
HCKa+ HIIn/Te!

3) Stem-stressed stems add »/Te BEpU+ BEpH/TE!
MOBECH+ MoBéCh/Te!
{can+ / cén+} cinap/te!
{6+ / Gbl+} 6y1b/Te!

Consonant cluster stems u/te MMOMHH+ OMHH/Te!
MPUBEIK[HY |+ TIPUBBIKHU/TE!

4) Exceptions aTh nari/re!
€CThb émb/Te!
OCXKATH Oern/te!
{naii+" / naBaii+} nasaii/te!
{BcTaii+ " / BcTaBaii+} BCTaBaii/Te!
{y3Haii+" / y3HaBal+} y3HaBaii/Te!

@ MepeBeanTe Ha PYCCKUIA:

Close the door, please.

Be quite!

Put the plates on the table.
Keep that in mind.

Here, take it!

— O N W W =

1. Save me!

AN

Don’t exaggerate!

Don’t put your feet on the table!

Hang the photograph next to the poster.

8. Don’t worry, everything will be OK.

10. Don’t pay attention to him.

23-8



23-1 ypok
25 YnpaxHéHue 1

JomawHee 3apgaHue

Give the verb forms. Try not to look back at the lesson:

laugh hold put on (clothing) perfective
Stem: Stem: Stem:
Present Present “Present”
s i s

oHA OHA oHA

OHH OHH OHH

Past Past Past

OH OH OH

oHA OHA OHA

OHH OHH OHM
Infinitive Infinitive Infinitive
Imperative Imperative Imperative
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be silent cry shave
Stem: Stems: Stems:
Present “Present” Present
i Pl Pl

oHA OHA OoHA

OHU OHH OHH

Past Past Past

OH OH OH

OHA oHA OHA

OHH OHH OHH
Infinitive Infinitive Infinitive
Imperative Imperative Imperative
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